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QUESTION NO: 1

You need to assign an XSLT Mapping program in your Operation Mapping.
Which activities must you perform first?

Note: There are 2 correct answers to this question.

A. Import the XSLT archive into a message mapping.

B. Unzip the XSLT archive before assigning into the imported archive.

C. Import the XSLT archive into the imported archive.

D. Create an imported archive.

ANSWER: CD

QUESTION NO: 2

Which messages are displayed in the PIMON Monitor?
Choose the correct answers.
A. WS messages (SOAP is the message protocol)

B. XI messages (XI-Message protocol 3.x is the message
protocol)

C. RFC messages (RFC Specific Message Protocol is the message
protocol)

ANSWER: AB

QUESTION NO: 3

You are using the SAP NetWeaver Administrator application to view all running BPM processes in the Processes and Tasks
tab.

What actions can be taken on a running BPM process?
Note: There are 3 correct answers to this question.

A. Reprocess

B. Delete

C. Suspend
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D. Resume

E. Cancel

ANSWER:CDE

QUESTION NO: 4

You have defined a new business system in SLD. During the import process (assign business system), this new business
system is NOT available in the list of displayed business systems. What would you do?

A. Refresh the CPA Cache via http:/ / < host > < host >: < port > < port > /CPACache/refresh < /port > < * /port > < /host > <
/host >

B. Clear the SLD Cache in the Integration Directory
C. Assign the business system to the technical system in SLD

D. Assign the SWCV to the business system in SLD

ANSWER: B

QUESTION NO: 5

What are the characteristics of a software component? Note: There are 3 correct answers to this question.
A. It provides interfaces.

B. It is installed on business systems.

C. It can have multiple versions.

D. It is a modular entity.

E. It is based on Component Object Model.

ANSWER: ACD

QUESTION NO: 6

What is the main characteristic of an integration flow?

A. Based on Business Process Management Notation 2.0
B. Based on Business Process Execution Language

C. Deployed on Business Process Engine

D. Deployed on Business Rule Management
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ANSWER: D

QUESTION NO: 7

The aggregator pattern is a stateful filter that is used in cases where subsequent message processing is contingent upon the
successful processing of multiple input messages.

Determine whether this statement is true or false.
A. True

B. False

ANSWER: A

QUESTION NO: 8

Which tabs of the data-flow editor can you use to delete or edit user-defined functions?
Choose the correct answers

A. Functions

B. Definition

C. Signature Variables

D. Function Library

ANSWER: AB

QUESTION NO: 9

Which of the following are components of SAP Process Orchestration? Note: There are 2 correct answers to this question.
A. It includes SAP BRM

B. It is based on single stack Java

C. ltincludes a ccBPM migration tool

D. It includes an ASCS instance

ANSWER: AB

QUESTION NO: 10
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Which statement can you use to define warnings?
Choose the correct answer.

A.

<xsl:otherwise>

B.

<xsl:message>

C.

<xsl:choose>

D.

<xsl:when>

ANSWER: B

QUESTION NO: 11

Which of the following logs provides information about execution times, process outcomes, and individual step?
Choose the correct answer.

A. Business log

B. Connection log

C. J2EE Engine log

D. Process log

ANSWER: D

QUESTION NO: 12

A business process is created in a pool. Determine whether this statement is true or false.
A. True

B. False

ANSWER: A
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QUESTION NO: 13

A mapping template serves as a basic, predefined unit that you can load into and use in other message mappings.
Determine whether this statement is true or false.

A. True

B. False

ANSWER: B

QUESTION NO: 14

Which runtime constant is associated with the sender interface name?
Choose the correct answer.

A. $SenderService

B. $interface

C. Sinterface Namespace

D. $Receiver Name

ANSWER: AC

QUESTION NO: 15
Where can a sequence flow go? Choose the correct answer.
A. It must stay in its own lane.

B. It can cross lanes within its own pool, but it cannot cross the boundary
of its pool.

C. It can cross lanes within its own pool and can cross pool boundaries.

ANSWER: B
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